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VARIATION WITH  

TNUSRB KEYS 
  

A-SERIES: (Questions See Below). 

The logical Explanation given, You the 
Aspirants send to TNUSRB, so that they 
may verify and take final decision. 
 

Qn.Qn.Qn.Qn.    No:No:No:No:    99996666,,,,    97979797,,,,    114,114,114,114,    103,103,103,103,    127127127127....    
    

    

FIRST TIME in INDIA 
ALL Classes   UPSC/TNPSC/BANKING Exams 

also by LIVE ONLINE & also in CD’s. 

For details/to attend one FREE DEMO ONLINE Class  

email to        r.rajaboopathy@yahoo.in        with 

Subject as ONLINE CLASS. 
 

GROUP-1 2008&09:59    RADIANs got Postings 
 

GROUP-2 2008&09:282 RADIANs got Posting 

 

IAS FREE SEIMAR WITH TOPPER 
RADIAN IAS ACADEMY CONDUCTS FREE 

SEMINAR WITH this year TOPPER  

Miss. R. SHANMUGA PRIYA (In her VERY FIRST 

ATTEMPT) on July 11(Sun) 6:30PM in our 

Institute. 

Also YOU CAN WATCH LIVE ONLINE, WHERE 

EVER YOU ARE. Click the following link. 

 

http://www.wiziq.com/online-class/335457-csat-

01 

 

For Details CALL-9840400825. 
 

DAILY FREE SMSES   
To receive Daily FREE GK, Current Affairs, Exams 
Notifications, Results Alerts for UPSC-IAS Exams  

Create a sms   JOIN RADIANIAS  and send to 

09870807070  
    

To receive Daily FREE GK, Current Affairs, Exams 
Notifications, Results Alerts for ALL TNPSC Exams 

Create a sms    JOIN RADIANTNPSC   and send to 

09870807070  
 

To receive Daily FREE SMSes on Aptitude, English Tips 
for BANK, SSC, RRB Exams  

Create a sms    JOIN RADIANAPTY   and send to 

09870807070  

A - SERIES 

PART ‘A’ : General Knowledge    
ÀÌ¾¢ '«' : ¦À¡Ð «È¢×ÀÌ¾¢ '«' : ¦À¡Ð «È¢×ÀÌ¾¢ '«' : ¦À¡Ð «È¢×ÀÌ¾¢ '«' : ¦À¡Ð «È¢×    

1) The composer of Periyapuranam 
a)Kambar b)Ottakuthar  c)Sekkilar      d)Pugalendi 
¦À¡¢ÂÒÃ¡½ò¨¾ þÂüÈ¢ÂÅ÷   
a)¸õÀ÷ b)´ð¼ìÜò¾÷   c)§ºì¸¢Æ¡÷c)§ºì¸¢Æ¡÷c)§ºì¸¢Æ¡÷c)§ºì¸¢Æ¡÷   d)Ò¸§Æó¾¢ 

2) The Delhi Sultan who introduced Market Reforms 
a)Muhamad-bin-Tughlaq b)Firoz Tughlaq 
c)Alauddin Khilji  d)Sikkandar Lodi 
«í¸¡Ê º£÷¾¢Õò¾í¸¨Ç «È¢Ó¸ôÀÎò¾¢Â ÊøÄ¢ 
Íø¾¡ý 
a)Ó¸ÁÐ À¢ý ÐìÄì b)À¢§Ã¡Š ÐìÇì 
c)«Ä¡×¾£ý ¸¢øƒ¢c)«Ä¡×¾£ý ¸¢øƒ¢c)«Ä¡×¾£ý ¸¢øƒ¢c)«Ä¡×¾£ý ¸¢øƒ¢     d)º¢ì¸ó¾÷ §Ä¡Ê 

3) The term “Cold War” was first used by 
a)Bernard Baruch b)F.D.Roosevelt  
c)Stalin  d)Churchill 
'¦¸ÎÀ¢Êô§À¡÷' ±Ûõ ¦º¡ø¨Ä Ó¾Ä¢ø 
ÀÂýÀÎò¾¢ÂÅ÷ 
a)¦À÷É¡÷ð Àåîa)¦À÷É¡÷ð Àåîa)¦À÷É¡÷ð Àåîa)¦À÷É¡÷ð Àåî     b)±ô.Ê.åŠ¦Åøð 
c)Š¼¡Ä¢ý   d)º÷îº¢ø 

4) Who composed “Thiru Arutpa”? 
a)St.Ramalinga  b)Thiru molar 
c)Kumara Kuru barar d)Armuga Navalar 
¾¢Õ «ÕðÀ¡¨Å þÂüÈ¢ÂÅ÷ Â¡÷? 
a)þÃ¡ÁÄ¢í¸ «Ê¸Ç¡÷a)þÃ¡ÁÄ¢í¸ «Ê¸Ç¡÷a)þÃ¡ÁÄ¢í¸ «Ê¸Ç¡÷a)þÃ¡ÁÄ¢í¸ «Ê¸Ç¡÷ b)¾¢ÕãÄ÷ 
c)ÌÁÃÌÕÀÃ÷  d)¬ÚÓ¸¿¡ÅÄ÷ 

5) The French Revolution took place in the year 
a)1798 b)1789  c)1779  d)1799 
ô¦ÃïÍô ÒÃðº¢ ¿¨¼¦ÀüÈ ¬ñÎ 
a)1798 b)1789b)1789b)1789b)1789     c)1779  d)1799 

6) Who was the Author of “Das Capital”? 
a)Adam Smith b)David Ricardo 
c)Karl Marx  d)Frederich Engles 
'ãÄ¾Éõ' ±ýÈ áÄ¢ý ¬º¢¡¢Â÷ Â¡÷? 
a)¬¼õŠÁ¢ò b)§¼Å¢ð ¡¢¸¡÷§¼¡ 
c)¸¡÷ø Á¡÷ìŠc)¸¡÷ø Á¡÷ìŠc)¸¡÷ø Á¡÷ìŠc)¸¡÷ø Á¡÷ìŠ d)À¢Ã¼¡¢ì ±í¸øŠ 

7) The U.N.O. Headquarters is located at 
a)Geneva  b)San Francisco   
c)The Hague d)New York 
³.¿¡.º¨ÀÂ¢ý ¾¨Ä¨ÁÂ¢¼õ þÕôÀÐ 
a)¦ƒÉ¢Å¡  b)º¡ý À¢Ã¡ýº¢Š§¸¡ 
c)¾¢ §†ì  d)¿¢äÂ¡÷ìd)¿¢äÂ¡÷ìd)¿¢äÂ¡÷ìd)¿¢äÂ¡÷ì 

8) Who wrote the Book “Discovery of India”? 
a)M.K.Gandhi b)Jawaharlal Nehru 
c)Mothilal Nehru d)Indira Gandhi 
'ÊŠ¸Å¡¢ ¬ô þó¾¢Â¡' ±ýÈ Òò¾¸ò¨¾ ±Ø¾¢ÂÅ÷ 
Â¡÷? 
a)±õ.§¸.¸¡ó¾¢ b)ƒÅ†÷Ä¡ø §¿Õb)ƒÅ†÷Ä¡ø §¿Õb)ƒÅ†÷Ä¡ø §¿Õb)ƒÅ†÷Ä¡ø §¿Õ 
c)§Á¡¾¢Ä¡ø §¿Õ d)þó¾¢Ã¡ ¸¡ó¾¢ 

9) The grasslands found in Europe are known as 
a)Prairies b)Steppes c)Pampas        d)Savannas 
³§Ã¡ôÀ¡Å¢ø ¸¡½ôÀÎõ Òø¦ÅÇ¢ 
a)À¢¦Ãö¡¢ b)Š¦¼ôÀ¢b)Š¦¼ôÀ¢b)Š¦¼ôÀ¢b)Š¦¼ôÀ¢ c)À¡õÀ¡Š d)ºÅ¡É¡ 

10) The first Earth Day is celebrated in 
a)United Kingdom b)United States 
c)Israel  d)Sierra Leone  
Ó¾ø ÒÅ¢¿¡û ¦¸¡ñ¼¡¼ôÀð¼ ¿¡Î 
a)³ì¸¢Â «ÃÍ b)«¦Á¡¢ì¸ ³ì¸¢Â ¿¡Î¸ûb)«¦Á¡¢ì¸ ³ì¸¢Â ¿¡Î¸ûb)«¦Á¡¢ì¸ ³ì¸¢Â ¿¡Î¸ûb)«¦Á¡¢ì¸ ³ì¸¢Â ¿¡Î¸û    
c)þŠ§Ãø  d)º£Ã¡Ä¢§Â¡ý 

    Tamil Nadu Uniform Services Recruitment Borad SI Exam on 4th July 2010. 
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11) The island with Asia’s largest Sawmill is in 
a)Andamans b)Nicobar 
c)Lakshadweep d)Minicoy Island 
¬º¢Â¡Å¢ý Á¢¸ô¦À¡¢Â ÁÃõ «ÚìÌõ ¬¨Ä¸û OûÇ 
¾£× 
a) a) a) a) «ó¾Á¡ý ¾£×«ó¾Á¡ý ¾£×«ó¾Á¡ý ¾£×«ó¾Á¡ý ¾£× b) ¿¢§¸¡À÷ ¾£× 
c) Äðºò ¾£× c) Á¢É¢¸¡ö ¾£× 

12) The plant biomes that are found beneath the seas are 
called 
a)Plankton b)Necton c)Benthos d)Corals 
¸¼ÄÊôÀÃôÀ¢ø OûÇ ¾¡ÅÃ ÝúÅ¡Æ¢¼õ 
a) À¢Ç¡í¼ý  b) ¦¿ì¼¡ý 
c) c) c) c) ¦Àó¾¡Š¦Àó¾¡Š¦Àó¾¡Š¦Àó¾¡Š     d) ÓÕ¨¸¸û 

13) Which hills are parallel to the Narmada Valley? 
a)Nilgiri hills  b)Vindhya mountains 
c)Himalayas d)Western Ghats 
¿÷Á¾¡ ÀûÇ¾¡ì¸¢üÌ þ¨½Â¡¸ «¨ÁóÐûÇ Á¨Ä 
a) ¿£Ä¸¢¡¢Á¨Ä b) Å¢ó¾¢Â Á¨ÄÅ¢ó¾¢Â Á¨ÄÅ¢ó¾¢Â Á¨ÄÅ¢ó¾¢Â Á¨Ä    
b) þÁÂÁ¨Ä d) §ÁüÌ ¦¾¡¼÷îº¢ Á¨Ä 

14) Where is the rich research station in Thanjavur district? 
a)Kumbakonam b)Thanjavur c)Aduthurai 
d)Papanasam 
¾ïº¡ç÷ Á¡Åð¼ò¾¢ø OûÇ ¦¿ø ¬Ã¡öîº¢¨ÁÂõ 
a)ÌõÀ§¸¡½õ b)¾ïº¡ç÷ c)¬ÎÐ¨Èc)¬ÎÐ¨Èc)¬ÎÐ¨Èc)¬ÎÐ¨È    
d)À¡À¿¡ºõ 

15) Which type of soil is best suited for cotton cultivation? 
a)Black soil  b)Alluvial soil c)Sand  d)Red soil 
ÀÕò¾¢ º¡ÌÀÊìÌ ²üÈ Áñ 
a) a) a) a) ¸¡¢ºø Áñ¸¡¢ºø Áñ¸¡¢ºø Áñ¸¡¢ºø Áñ            b) Åñ¼ø Áñ 
c) Á½ø          d) ¦ºõÁñ 

16) The minimum population required for a commodity to 
be sold in the market 
a)0-50 b)50-100 c)100-200 d)200-300 
´ù¦Å¡Õ §º¨Å ¨ÁÂò¾¢üÌõ §¾¨ÅÂ¡É 
Ì¨Èó¾Àðº Áì¸û ¦¾¡¨¸ 
a)0-50 b)50-100 c)100-200 d)200-300 

17) The Constitution of India came into force in the year 
a)1950 b)1947  c)1952  d)1945 
þó¾¢Â «Ãº¢ÂÄ¨ÁôÒ ¿¨¼Ó¨ÈìÌ Åó¾ ¬ñÎ 
a)1950 b)1947  c)1952  d)1945 

18) Rajya Sabha consists of……members 
a)220 b)230  c)250  d)200 
Á¡¿¢Äí¸Ç¨ÅÂ¢ý ¦Á¡ò¾ OÚôÀ¢É÷ ±ñ½¢ì¨¸ 
a)220 b)230  c)250  d)200 

19) The state that has more female ratio than male is 
a)West Bengal b)Punjab c)Tamil Nadu 
d)Kerala 
¬ñ¸¨Ç Å¢¼ ¦Àñ¸û Å¢¸¢¾õ «¾¢¸õ OûÇ 
Á¡¿¢Äõ 
a)§ÁüÌ Åí¸õ b)Àïº¡ô 
c)¾Á¢ú¿¡Î  d)§¸ÃÇõd)§¸ÃÇõd)§¸ÃÇõd)§¸ÃÇõ    

20) Which one of the following article has the provision to 
dissolve a state assembly? 
a)Article 170 b)Article 171 c)Article 352 d)Article 356 
Á¡¿¢Ä ºð¼º¨Àì ¸¨ÄôÒ þó¾¢Â «Ãº¢Âø 
«¨ÁôÀ¢ý ±ó¾ Å¢¾¢Â¢ý ÀÊ §Áü¦¸¡ûÇôÀÎ¸¢ÈÐ? 
a)Å¢¾¢ 170    b)Å¢¾¢ 171 c)Å¢¾¢ 352    d)Å¢¾¢ 356d)Å¢¾¢ 356d)Å¢¾¢ 356d)Å¢¾¢ 356    

21) The book ‘Wings of Fire’ is written by 
a)Indira Gandhi  b)L.K.Advani 
c)Manmohan Singh  d)Abdul Kalam 
'«ì¸¢É¢î º¢ÈÌ¸û' ±ýÈ á¨Ä ±Ø¾¢ÂÅ÷ 
a)þó¾¢Ã¡ ¸¡ó¾¢   b)L.K.«òÅ¡É¢ 
c)Áý§Á¡¸ý º¢í  d)«ôÐø ¸Ä¡õd)«ôÐø ¸Ä¡õd)«ôÐø ¸Ä¡õd)«ôÐø ¸Ä¡õ    

22) The Chief Minister is appointed by the 
a)Prime Minister b)Governor c)President 
d)Speaker 
Ó¾Ä¨Áîº¨Ã ¿¢ÂÁ¢ôÀÅ÷ 
a)À¢Ã¾Á Áó¾¢¡¢          b)¬Ù¿÷b)¬Ù¿÷b)¬Ù¿÷b)¬Ù¿÷    
c)ÌÊÂÃÍò ¾¨ÄÅ÷        d)ºð¼ô §ÀÃ¨Åò ¾¨ÄÅ÷ 

23) Who said, “Man is a social animal”? 
a)Socrates b)Aristotle c)Locke  d)Plato 
'ÁÉ¢¾ý ´Õ ºã¸ Å¢ÄíÌ' ±Éì ÜÈ¢ÂÐ Â¡÷? 
a)º¡ìÃËŠ  b)«¡¢Š¼¡ðÊøb)«¡¢Š¼¡ðÊøb)«¡¢Š¼¡ðÊøb)«¡¢Š¼¡ðÊø    
c)Ä¡ì  d)À¢Ç¡ð§¼¡ 

24) The minimum voting age for Indian citizen is 
a)18 b)19  c)20  d)21 
þó¾¢Â ÌÊÁ¸ÛìÌ Å¡ì¸Ç¢ì¸ §¾¨ÅÂ¡É 
Ì¨Èó¾Àðº ÅÂÐ ÅÃõÒ 
a)18 b)19  c)20  d)21 

25) Cannons of taxation were propounded by 
a)Adam Smith b)Dalton c)Malthus 
d)Seligman 
ÒÉ¢¾ Å¡¢Å¢¾¢ôÒ Å¢¾¢¸¨Ç OÕÅ¡ì¸¢ÂÅ÷ 
a)¬¾õŠÁ¢òa)¬¾õŠÁ¢òa)¬¾õŠÁ¢òa)¬¾õŠÁ¢ò b)¼¡ø¼ý 
c)Á¡ø¾Š  d)¦ºÄ¢ìÁý 

26) A firm can achieve equilibrium when is 
a)MC=AC b)MR=AC c)MR=AR d)MC=MR 
´Õ ¿¢ÚÅÉõ ºÁ¿¢¨Ä«¨¼ÅÐ ±ô¦À¡ØÐ ±É¢ø 
a)MC=AC b)MR=AC c)MR=AR d)MC=MR 

27) One rupee notes issued by the Government of India is 
known as 
a)Reserve money b)Narrow money 
c)Broad money d)Fiat money 
þó¾¢Â «Ãº¡ø ¦ÅÇ¢Â¢¼ôÀÎõ ´Õ åÀ¡ö 
§¿¡ðÎ¸û___±ýÚ «¨Æì¸ôÀÎõ 
a)þÕôÒ À½õ  b)ÌÚ¸¢Â À½õ 
c)ÀÃó¾Àð¼ À½õ  d)¸ð¼¨Çô À½õd)¸ð¼¨Çô À½õd)¸ð¼¨Çô À½õd)¸ð¼¨Çô À½õ    

28) The first country to introduce Five Year Plan was 
a)Germany   b)U.S.A.  
c)Former Soviet Russia d)France 
³ó¾¡ñÎò ¾¢ð¼ò¨¾ Ó¾ýÓ¾Ä¢ø 
«È¢Ó¸ôÀÎò¾¢Â ¿¡Î____ 
a)¦ƒ÷ÁÉ¢    b)«¦Á¡¢ì¸¡ 
c)Óó¨¾Â §º¡Å¢Âò Ã‰Â¡c)Óó¨¾Â §º¡Å¢Âò Ã‰Â¡c)Óó¨¾Â §º¡Å¢Âò Ã‰Â¡c)Óó¨¾Â §º¡Å¢Âò Ã‰Â¡     d)À¢Ã¡ýÍ 

29) The first 20-point programme was announced by 
a)Smt.Indira Gandhi  b)Sri.Morarji Desai 
c)Sri.Rajiv Gandhi  d)Sri.Narasimha Rao 
Ó¾Ä¡õ 20 «õº ¾¢ð¼ò¾¢¨É «È¢Å¢ò¾Å÷ 
a)¾¢ÕÁ¾¢.þó¾¢Ã¡¸¡ó¾¢ «õ¨ÁÂ¡÷a)¾¢ÕÁ¾¢.þó¾¢Ã¡¸¡ó¾¢ «õ¨ÁÂ¡÷a)¾¢ÕÁ¾¢.þó¾¢Ã¡¸¡ó¾¢ «õ¨ÁÂ¡÷a)¾¢ÕÁ¾¢.þó¾¢Ã¡¸¡ó¾¢ «õ¨ÁÂ¡÷        
b)¾¢Õ.¦Á¡Ã¡÷ƒ¢ §¾º¡ö 
c)¾¢Õ.þÃ¡ƒ£ù ¸¡ó¾¢ d)¾¢Õ.¿Ãº¢õÁ Ã¡ù 

30) The Planning Commission was set up in 
a)1948 March b)1950 March 
c)1951 March d)1955 March 
¾¢ð¼ì¸Á¢„ý ¦¾¡¼í¸ôÀð¼ ¬ñÎ 
a)1948 Á¡÷î b)1950 Á¡÷îb)1950 Á¡÷îb)1950 Á¡÷îb)1950 Á¡÷î c)1951 Á¡÷î 
d)1955 Á¡÷î 

31) Commerce is related to 
a)Production of Goods b)Exchange of Goods 
c)Providing Occupation d)Providing Services 
Å½¢¸õ ±¾Û¼ý ¦¾¡¼÷Ò¨¼ÂÐ? 
a)¦À¡Õð¸Ç¢ý OüÀò¾¢ b)¦À¡Õð¸Ç¢ý À¡¢Á¡üÈõb)¦À¡Õð¸Ç¢ý À¡¢Á¡üÈõb)¦À¡Õð¸Ç¢ý À¡¢Á¡üÈõb)¦À¡Õð¸Ç¢ý À¡¢Á¡üÈõ 
c)§Å¨ÄÅ¡öôÒ §¾¡üÚÅ¢ôÀÐ 
d)À½¢¸¨Çò §¾¡üÚÅ¢ôÀÐ 
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32) The first railway line in India was opened to traffic 
between 
a)Mumbai-Chennai  b)Chennai-Kolkotta 
c)Mumbai and Thane d)Delhi-Chennai 
þó¾¢Â¡Å¢ø Ó¾ø þÃÂ¢ø§Å ¦¾¡¼÷Ò ±ó¾ þÕ 
¿¸Ãí¸Ùì¸¢¨¼§Â ²üÀÎò¾ôÀð¼Ð 
a)Óõ¨À-¦ºý¨É  b)¦ºý¨É-¦¸¡ø¦¸¡ò¾¡ 
c)Óõ¨Àc)Óõ¨Àc)Óõ¨Àc)Óõ¨À----¾¡§É¾¡§É¾¡§É¾¡§É     d)¦¼øÄ¢-¦ºý¨É 

33) A cheque in circulation for more than six months is 
called 
a)Stale cheque b)Post-dated cheque 
c)Ordinary cheque d)Crossed cheque 
¬Ú Á¡¾ ¸¡Äò¾¢üÌ §ÁÄ¡¸ ÒÆì¸ò¾¢ÖûÇ 
¸¡§º¡¨Ä ±ùÅ¡Ú «¨Æì¸ôÀÎ¸¢ÈÐ 
a)¸¡Äì¦¸Î ÓÊó¾ ¸¡§º¡¨Äa)¸¡Äì¦¸Î ÓÊó¾ ¸¡§º¡¨Äa)¸¡Äì¦¸Î ÓÊó¾ ¸¡§º¡¨Äa)¸¡Äì¦¸Î ÓÊó¾ ¸¡§º¡¨Ä    
b)À¢ý §¾¾¢Â¢ð¼ ¸¡§º¡¨Ä 
c)º¡¾¡Ã½ ¸¡§º¡¨Ä d)¸£ÈÄ¢ð¼ ¸¡§º¡¨Ä 

34) Balance sheet is a 
a)Statement b)Account c)Ledger 
d)Journal 
þÕôÒ ¿¢¨Ä ÌÈ¢ôÒ ±ýÀÐ 
a)«È¢ì¨¸a)«È¢ì¨¸a)«È¢ì¨¸a)«È¢ì¨¸ b)¸½ìÌ c)§À§ÃÎ      d)ÌÈ¢ô§ÀÎ 

35) Depreciation arises due to 
a)Wear and tear of asset  
b)Fall in market value of assets 
c)Fall in value of money 
d)None of the above 
§¾öÁ¡Éõ ±ÉôÀÎÅÐ 
a)¦º¡òÐ §¾öÅ¨¼Å¾¡øa)¦º¡òÐ §¾öÅ¨¼Å¾¡øa)¦º¡òÐ §¾öÅ¨¼Å¾¡øa)¦º¡òÐ §¾öÅ¨¼Å¾¡ø        
b)¦º¡ò¾¢ý ºó¨¾ Å¢¨Ä Ì¨È× 
c)À½ò¾¢ý Á¾¢ôÒ Ì¨È× 
d)§ÁüÜÈ¢Â ±Ð×Á¢ø¨Ä 

36) Bank Reconciliation Statement is prepared by 
a)Bank   b)Creditor of a business 
c)Customer of a bank d)Reserve bank 
Åí¸¢ º¡¢ì¸ðÎõ ÀðÊÂ¨Äò ¾Â¡¡¢ôÀÅ÷ 
a)Åí¸¢   b)Å½¢¸ò¾¢ ¸¼É£ó§¾¡÷ 
c)Åí¸¢ Å¡Êì¨¸Â¡Ç÷c)Åí¸¢ Å¡Êì¨¸Â¡Ç÷c)Åí¸¢ Å¡Êì¨¸Â¡Ç÷c)Åí¸¢ Å¡Êì¨¸Â¡Ç÷ d)¡¢º÷ù Åí¸¢ 

37) Transformer works in 
a)AC only b)DC only c)Both AC & DC 
d)AC more effectively than DC 
Á¢ý Á¡üÈ¢ ¦ºÂøÀÎÅÐ 
a)ACÂ¢ø ÁðÎõa)ACÂ¢ø ÁðÎõa)ACÂ¢ø ÁðÎõa)ACÂ¢ø ÁðÎõ b)DCÂ¢ø ÁðÎõ 
c)AC ÁüÚõ DCÂ¢ø  
d)DC ¸¡ðÊÖõ ACÂ¢ø ¾¢ÈõÀ¼ ¦ºÂøÀÎõ 

38) Who proposed the theory of elliptical orbits of electrons 
in the atom? 
a)J.J.Thomson b)Bohr  c)Sommer Feld 
d)de-Broglie 
«ÏÅ¢Ûû ±ÄìðÃ¡ý¸Ç¢ý ¿£ûÅ¢ð¼ô À¡¨¾ì 
¸Õò¨¾ì ÜÈ¢ÂÅ÷ Â¡÷? 
a)J.J.¾¡õºý b)§À¡÷  c)º¡Á÷ ¦ÀøÎc)º¡Á÷ ¦ÀøÎc)º¡Á÷ ¦ÀøÎc)º¡Á÷ ¦ÀøÎ    
d)ÊÀ¢Ã¡Ä¢ 

39) Which of the following are primary colours? 
a)Red, Green, Blue  b)Red, Cyan and Blue 
c)Blue, Cyan and Magenta d)Violet, Red and Gree 
À¢ýÅÕÅÉÅüÚû ±¨Å Ó¾ý¨Á ¿¢Èí¸û? 
a)º¢ÅôÒ, Àî¨º, ¿£Äõa)º¢ÅôÒ, Àî¨º, ¿£Äõa)º¢ÅôÒ, Àî¨º, ¿£Äõa)º¢ÅôÒ, Àî¨º, ¿£Äõ b)º¢ÅôÒ, º¢Â¡ý, ¿£Äõ 
c)¿£Äõ, º¢Â¡ý, ¦Áƒó¾¡ d)°¾¡, º¢ÅôÒ, Àî¨º 

40) In aeroplanes which is used as glass windows to 
control the intensity of light? 
a)Polaroid b)Steroid c)Amalgam d)Alloys 

¬¸¡Â Å¢Á¡Éí¸Ç¢ø ´Ç¢î ¦ºÈ¢¨Åì ¸ðÎôÀÎò¾, 
ºýÉø ¸ñ½¡Ê¸Ç¡¸ô ÀÂýÀÎÅÐ ±Ð? 
a)§À¡ÄÃ¡öÎa)§À¡ÄÃ¡öÎa)§À¡ÄÃ¡öÎa)§À¡ÄÃ¡öÎ b)ŠËÃ¡öÎ 
c)«Áø¸õ  d)«§Ä¡¸õ 

41) Which of the following rays are used for the detection of 
counterfeit currency and forgery in documents? 
a)Alpha rays b)Ultra violet rays 
c)Beta rays  d)Light rays 
¸£úì¸ñ¼ÅüÚû ±ùÅ¨¸ì ¸¾¢÷¸û ¸ûÇ åÀ¡ö 
§¿¡ðÎ¸¨ÇÔõ, §À¡Ä¢ô Àò¾¢Ãí¸¨ÇÔõ ¸ñ¼È¢Â 
O¾×¸¢ýÈÉ? 
a)¬øÀ¡ ¸¾¢÷¸û b)b)b)b)ÒÈ °¾¡ ¸¾¢÷¸ûÒÈ °¾¡ ¸¾¢÷¸ûÒÈ °¾¡ ¸¾¢÷¸ûÒÈ °¾¡ ¸¾¢÷¸û    
c)À£ð¼¡ ¸¾¢÷¸û d)´Ç¢ì¸¾¢÷¸û 

42) What is the boiling point of water inside the pressure 
cooker? 
a)100

0
 C   b)Less than 100

0
 C  

c)Greater than 100
0
 C d)0

0
 C 

«Øò¾ º¨ÁÂü ¸ÄÉ¢ø ¿£¡¢ý ¦¸¡¾¢¿¢¨Ä Â¡Ð 
a)100

0
 C   b)100

0
 C³ Å¢¼ì Ì¨È× 

c)100
0
 C ³ Å¢¼ «¾¢¸õ³ Å¢¼ «¾¢¸õ³ Å¢¼ «¾¢¸õ³ Å¢¼ «¾¢¸õ d)0

0
 C 

43) What is the device used to store charge? 
a)Resistor b)Capacitor c)Inductor       d)Conductor 
Á¢ýëð¼ò¨¾î §ºÁ¢òÐ ¨ÅìÌõ ¸ÕÅ¢ ±Ð? 
a)Á¢ý¾¨¼  b)Á¢ý§¾ì¸¢b)Á¢ý§¾ì¸¢b)Á¢ý§¾ì¸¢b)Á¢ý§¾ì¸¢    
c)àñÎ ÍÕû d)¸¼ò¾¢ 

44) What will happen to the gravitational force of attraction 
between 2 masses if the distance between them is 
doubled? 
a)Is reduced to half  b)Is reduced to quarter 
c)Is doubled  d)Becomes 4 times 
þÕ ¿¢¨È¸ÙìÌ þ¨¼§Â OûÇ àÃõ þÕÁ¼í¸¡¸ 
¬ì¸ôÀð¼¡ø, «ÅüÈ¢ìÌ þ¨¼§Â ¦ºÂøÀÎõ ÒÅ¢ 
®÷ôÒ Å¢¨º ±ýÉÅ¡Ìõ? 
a)À¡¾¢Â¡¸ Ì¨ÈÔõ b)¸¡øÀÌ¾¢Â¡¸ì Ì¨ÈÔõb)¸¡øÀÌ¾¢Â¡¸ì Ì¨ÈÔõb)¸¡øÀÌ¾¢Â¡¸ì Ì¨ÈÔõb)¸¡øÀÌ¾¢Â¡¸ì Ì¨ÈÔõ 
c)þÕÁ¼í¸¡ì¸ôÀÎõ d)¿¡ýÌÁ¼íÌ ¬Ìõ 

45) Laughing Gas is 
a)Nitrous oxide b)Nitric oxide c)Nitrogen di oxide 
d)Nitrogen tri oxide 
º¢¡¢ôâðÎõ Å¡Ô ±Ð? 
a)¨¿ðÃŠ ¬ì¨…Î)¨¿ðÃŠ ¬ì¨…Î)¨¿ðÃŠ ¬ì¨…Î)¨¿ðÃŠ ¬ì¨…Î b)¨¿ð¡¢ì ¬ì¨…Î 
c)¨¿ðÃƒý ¨¼ ¬ì¨…Î 
d)¨¿ðÃƒý ð¨Ã ¬ì¨…Î 

46) Chlorophyll contains the metal 
a)Magnesium b)Iron c)Calcium      d)Chromium 
Ì§Ç¡§Ã¡À¢øÄ¢ø ¸¡Ïõ ¾É¢Áõ 
a)¦ÁìÉ£º¢Âõa)¦ÁìÉ£º¢Âõa)¦ÁìÉ£º¢Âõa)¦ÁìÉ£º¢Âõ b)þÕõÒ c)¸¡øº¢Âõ 
d)Ì§Ã¡Á¢Âõ 

47) D.D.T. is an/a 
a)Insecticide b)Germicide c)Antiseptic 
d)Anaesthetic 
D.D.T.´Õ 
a)âîº¢ì¦¸¡øÄ¢a)âîº¢ì¦¸¡øÄ¢a)âîº¢ì¦¸¡øÄ¢a)âîº¢ì¦¸¡øÄ¢     b)¸¢ÕÁ¢ ¿¡º¢É¢ 
c)Ò¨Ãò ¾ÎôÀ¡ý  d)ÁÂì¸ ÁÕóÐ 

48) Which one of the following acid reduces Tollen’s 
reagent? 
a)Acetic acid b)Benzoic acid c)Formic acid 
d)Oxalic acid 
¼¡ÄýŠ Å¢¨Éô ¦À¡Õ¨Ç ´ÎìÌõ «Á¢Äõ ±Ð? 
a)«º¢ðÊì «Á¢Äõ  b)¦Àý§º¡Â¢ì «Á¢Äõ 
c)·À¡÷Á¢ì «Á¢Äõc)·À¡÷Á¢ì «Á¢Äõc)·À¡÷Á¢ì «Á¢Äõc)·À¡÷Á¢ì «Á¢Äõ     d)¬ì…¡Ä¢ì «Á¢Äõ 

49) The blue colour of the sky is due to 
a)Scattering of light  b)Reflection of light 
c)Refraction of light  d)Partial reflection of light 
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Å¡Éõ ¿£Ä ¿¢ÈÁ¡¸ §¾¡ýÚÅ¾üÌ ¸¡Ã½õ 
a)´Ç¢îº¢¾Èøa)´Ç¢îº¢¾Èøa)´Ç¢îº¢¾Èøa)´Ç¢îº¢¾Èø    b)´Ç¢ ±¾¢¦Ã¡Ç¢ôÒ 
c)´Ç¢ Å¢Ä¸ø d)ÀÌ¾¢ ±¾¢¦Ã¡Ç¢ôÒ 

50) Among the silver compounds, the compound used in 
artificial rain is 
a)AgF b)Agcl  c)AgBr  d)AgI 
¦ºÂü¨¸ Á¨Æ OÕÅ¡ìÌ¾Ä¢ø ÀÂýÀÎò¾ôÀÎõ 
º¢øÅ¡¢ý §º÷Áõ ±Ð? 
a)AgF b)Agcl  c)AgBr  d)AgI 

51) Richmond lang effect is produced by 
a)Auxins b)Gibberellins c)Cytokinin d)Ethylene 
¡¢ŠÁ÷ñð Ä¡í Å¢¨Ç× §¾¡üÚÅ¢ôÀÐ 
a)¬ì…¢ý b)ƒ¢ôÃÄ¢ý c)¨ºð§¼¡¨¸É¢ýc)¨ºð§¼¡¨¸É¢ýc)¨ºð§¼¡¨¸É¢ýc)¨ºð§¼¡¨¸É¢ý 
d)±ò¾¢Ä¢ý 

52) The principle used in pickling is 
a)Imbibition  b)Endosmosis 
c)Plasmolysis d)None of the above 
°Ú¸¡ö §À¡ÎÅ¾üÌ ÀÂýÀÎõ ¿¢¸ú× 
a)OûÇ£÷ò¾ø b)±ñ¼¡ŠÁ¡º¢Š 
c)À¢Ç¡Š§Á¡¨Äº¢Šc)À¢Ç¡Š§Á¡¨Äº¢Šc)À¢Ç¡Š§Á¡¨Äº¢Šc)À¢Ç¡Š§Á¡¨Äº¢Š        
d)§Á§Ä ¦º¡ýÉ¨Å ²Ðõ þø¨Ä 

53) ‘B’ chromosomes are found in 
a)Man b)Rat  c)Bean  d)Maize 
'B' Ì§Ã¡§Á¡§º¡õ¸û ¸¡½ôÀÎÅÐ 
a)ÁÉ¢¾ý b)±Ä¢ c)À£ýŠ d)Áì¸¡ §º¡Çõd)Áì¸¡ §º¡Çõd)Áì¸¡ §º¡Çõd)Áì¸¡ §º¡Çõ 

54) The 17
th
 human chromosome is 

a)Metacentric b)Sub-metacentric 
c)Telocentric d)Acrocentric 
ÁÉ¢¾É¢ý 17 ÅÐ Ì§Ã¡§Á¡§º¡õ 
a)¦Áð¼¡ ¦ºýð¡¢ì b)ºô ¦Áð¼¡ ¦ºýð¡¢ì 
c)Ê§Ä¡ ¦ºýð¡¢ì  d)«ì§Ã¡ ¦ºýð¡¢ìd)«ì§Ã¡ ¦ºýð¡¢ìd)«ì§Ã¡ ¦ºýð¡¢ìd)«ì§Ã¡ ¦ºýð¡¢ì 

55) Single cell protein are 
a)Nostoc b)Rhizobium c)Mushroom    d)Chlorella 
À¢ýÅÕõ ´ýÚ ¾É¢¦ºø ÒÃ¾ OÂ¢¡¢ÉÁ¡Ìõ 
a)¿¡Š¼¡ì  b)¨Ã§º¡À¢Âõ 
c)¸¡Ç¡ñ  d)Ì§Ç¡¦ÃøÄ¡d)Ì§Ç¡¦ÃøÄ¡d)Ì§Ç¡¦ÃøÄ¡d)Ì§Ç¡¦ÃøÄ¡    

56) The primary pigment is 
a)Chlorophyll ‘a’ b)Chlorophyll ‘b’ 
c)Carotenoid d)Xanthophyll 
Ó¾ý¨Á ¿¢ÈÁ¢ ±ÉôÀÎÅÐ 
a)Àî¨ºÂõ 'a'a)Àî¨ºÂõ 'a'a)Àî¨ºÂõ 'a'a)Àî¨ºÂõ 'a' b)Àî¨ºÂõ 'b' 
c)¸§Ã¡ðÊÉ¡öÎ d)º¡ó§¾¡·À¢ø 

57) In which year the National Malaria Eradication 
Programme (NMEP) was implemented? 
a)1958 b)1957  c)1956  d)1959 
§¾º¢Â §Á§Ä¡¢Â¡ ´Æ¢ôÒ ¾¢ð¼õ «ÁÄ¡ì¸ôÀð¼ 
¬ñÎ ±Ð? 
a)1958 b)1957  c)1956  d)1959 

58) What is the name of graft between identical twins? 
a)Xeno graft b)Allo graft c)Auto graft  d)Iso graft 
OÕÅ¦Á¡ò¾ þÃð¨¼Â÷¸Ùì¸¢¨¼§Â ¿¨¼¦ÀÚõ 
OÚôÒ Á¡üÈò¾¢üÌ ±ýÉ ¦ÀÂ÷? 
a)¦º§É¡¸¢Ã¡ôð b)«ø§Ä¡ ¸¢Ã¡ôð 
c)¬ð§¼¡¸¢Ã¡ôð d)³§º¡ ¸¢Ã¡ôðd)³§º¡ ¸¢Ã¡ôðd)³§º¡ ¸¢Ã¡ôðd)³§º¡ ¸¢Ã¡ôð 

59) What is the name of the disease caused due to protein 
deficiency? 
a)Beri beri b)Rickets    c)Anaemia    d)Kwashiorkar 
ÒÃ¾ì Ì¨ÈÀ¡ðÊÉ¡ø ²üÀÎõ §¿¡ö ±Ð? 
a)¦À¡¢ ¦À¡¢  b)¡¢ì¦¸ðŠ c)þÃò¾ §º¡¨¸ 
d)ÌÅ¡„¢Â¡÷¸÷d)ÌÅ¡„¢Â¡÷¸÷d)ÌÅ¡„¢Â¡÷¸÷d)ÌÅ¡„¢Â¡÷¸÷    

60) The principal organ of urea Biosynthesis in man is 
a)Spleen b)Skin  c)Liver  d)Kidney 

ÁÉ¢¾É¢ø §Å¾¢Å¢¨É ãÄõ ä¡¢Â¡¨Å OÕÅ¡ìÌõ 
Óì¸¢Â OÚôÒ 
a)Áñ½£Ãø b)§¾¡ø 
c)¸øÄ£Ãøc)¸øÄ£Ãøc)¸øÄ£Ãøc)¸øÄ£Ãø  d)º¢Ú¿£Ã¸õ 

61) Which is considered as a “Biological Paradise”? 
a)Nilgiri b)Andaman c)Nandadevi  
d)Gulf of Mannar 
±Ð 'OÂ¢¡¢Âø ¦º¡÷ì¸õ' ±É «¨Æì¸ôÀÎ¸¢ÈÐ? 
a)¿£Ä¸¢¡¢  b)«ó¾Á¡ý 
c)¿ó¾¡§¾Å¢ d)ÁýÉ¡÷ Å¨ÇÌ¼¡d)ÁýÉ¡÷ Å¨ÇÌ¼¡d)ÁýÉ¡÷ Å¨ÇÌ¼¡d)ÁýÉ¡÷ Å¨ÇÌ¼¡ 

62) What is the name for the permanent birth control 
method in female? 
a)Vasectomy  b)Tubectomy  
c)Transfer of uterus  d)Contraceptive pills 
¦Àñ¸ÙìÌ ¦ºöÂôÀÎõ ¿¢Ãó¾Ã ÌÎõÀ ¸ðÎÀ¡Î 
«Ú¨Å º¢¸¢î¨ºÂ¢ý ¦ÀÂ÷ ±ýÉ? 
a)Å¡¦ºì¼Á¢  b)ÊäÀì¦¼Á¢b)ÊäÀì¦¼Á¢b)ÊäÀì¦¼Á¢b)ÊäÀì¦¼Á¢ 
c)¸Õô¨À Á¡üÈõ  d)¸Õò¾¨¼ Á¡ò¾¢¨Ã¸û 

63) If tan θ= 3 , then the value of θ is 

a)45
0
 b)30

0
  c)60

0
  d)0

0 

tan θ= 3  ±É¢ø θ Å¢ý Á¾¢ôÒ 
a)45

0
 b)30

0
  c)60

0
  d)0

0 

64) If 





×××
→→→→→→

accbba ,, =64 then 




 →→→

cba  

a)32 b)8  c)128  d)0 

 





×××
→→→→→→

accbba ,, =64 ±É¢ø 




 →→→

cba  ý Á¾¢ôÒ 

a)32 b)8  c)128  d)0 

65) The differential equation of the family of straight lines 
y=mx is 

a)
dx

dy
=m b)ydx-xdy=0 c)

2

2

dx

yd
=0      d)ydx+xdy=0 

y=mx ±ýÈ §¿÷§¸¡Î¸Ç¢ý ¦¾¡ÌôÀ¢ý Å¨¸ì ¦¸Îî 
ºÁýÀ¡Î 

a)
dx

dy
=m b)ydx-xdy=0 c)

2

2

dx

yd
=0      d)ydx+xdy=0 

66) In the set of integers under the operation * defined by 
a*b=a+b-1, then the identity element is 
a)0  b)1b)1b)1b)1  c)a  d)b 
ÓØì¸Ç¢ø * ±ýÈ ®ÕÕôÒî ¦ºÂÄ¢  a*b=a+b-1 ±É 
Å¨ÃÂÚì¸ôÀÎ¸¢ÈÐ ±É¢ø ºÁÉ¢ OÚôÒ 

a)0  b)1b)1b)1b)1  c)a  d)b 
67) ¾Á¢Æ¡¢ý Å¡úÅ¢Âø º¢ó¾¨É¸¨Çì ¸ÕçÄÁ¡¸ì 

¦¸¡ñ¼ áø 
a)«¸¿¡ëÚ  b)³íÌÚáÚ 
c)ÒÈ¿¡ëÚc)ÒÈ¿¡ëÚc)ÒÈ¿¡ëÚc)ÒÈ¿¡ëÚ     d)ÌÚó¦¾¡¨¸ 

68) ¾¢ÕìÌÈÇ¢ý ¦ÀÕ¨Á¨Â O½÷òÐõ áø 
a)ÀÆ¦Á¡Æ¢   b)¾¢ÕÅûÙÅ Á¡¨Äb)¾¢ÕÅûÙÅ Á¡¨Äb)¾¢ÕÅûÙÅ Á¡¨Äb)¾¢ÕÅûÙÅ Á¡¨Ä    
c)¿¡ÄÊÂ¡÷   d)¸õÀÃ¡Á¡Â½õ 

69) 'º¢È¢Â ¾¢ÕÅÊ' ±ýÈ¨Æì¸ôÀÎÀÅ÷ 
a)¸Õ¼ý b)«ÛÁýb)«ÛÁýb)«ÛÁýb)«ÛÁý c)Å£¼½ý 
d)þÄìÌÁ½ý 

70) '«Æ¸¢Â Á½Å¡Ç¾¡º÷' ±ýÈ¨Æì¸ôÀÎÀÅ÷ 
a)À¢û¨Çô ¦ÀÕÁ¡û ³Âí¸¡÷a)À¢û¨Çô ¦ÀÕÁ¡û ³Âí¸¡÷a)À¢û¨Çô ¦ÀÕÁ¡û ³Âí¸¡÷a)À¢û¨Çô ¦ÀÕÁ¡û ³Âí¸¡÷      b)ÌÁÃ ÌÕÀÃ÷ 
c)§ºì¸¢Æ¡÷             d)ÌÄ§º¸Ã ¬úÅ¡÷ 

71) Ò¸¡÷ ¿¸¡¢ø '¾¨Äì§¸¡Ä¡¢¨Å' ±ýÈ Àð¼õ 
¦ÀüÈÅû 
a)¸ñ½¸¢    b)Á¡¾Å¢b)Á¡¾Å¢b)Á¡¾Å¢b)Á¡¾Å¢ c)Á¡¾¡¢     d)Á½¢§Á¸¨Ä 
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72) 'À¡ïº¡Ä¢ ºÀ¾õ' - Â¡Ã¡ø ±Ø¾ôÀð¼Ð? 
a)¸ñ½¾¡ºý  b)À¡Ã¾¢¾¡ºý 
c)¨ÅÃÓòÐ  d)À¡Ã¾¢Â¡÷d)À¡Ã¾¢Â¡÷d)À¡Ã¾¢Â¡÷d)À¡Ã¾¢Â¡÷    

73) À¡¢¾¢Á¡ü ¸¨Ä»¡¢ý þÂü¦ÀÂ÷ Â¡Ð? 
a)§Å¾¿¡Â¸ º¡Š¾¢¡¢ b)Ý¡¢Â ¿¡Ã¡Â½ º¡Š¾¢¡¢b)Ý¡¢Â ¿¡Ã¡Â½ º¡Š¾¢¡¢b)Ý¡¢Â ¿¡Ã¡Â½ º¡Š¾¢¡¢b)Ý¡¢Â ¿¡Ã¡Â½ º¡Š¾¢¡¢    
c)ÍôÀ¢ÃÁ½¢Â º¡Š¾¢¡¢ d)¿£Ä¸ñ¼ º¡Š¾¢¡¢ 

74) ¾¢Éõ ¾¢Éõ - þÄì¸½ì ÌÈ¢ôÒ ¾Õ¸. 
a)¦ÀÂ÷î¦º¡ø  b)þÃð¨¼ì ¸¢ÇÅ¢ 
c)«ÎìÌò ¦¾¡¼÷c)«ÎìÌò ¦¾¡¼÷c)«ÎìÌò ¦¾¡¼÷c)«ÎìÌò ¦¾¡¼÷     d)O¡¢î¦º¡ø 

75) ____there’s a way. Choose the correct phrase that suits 
well to the proverb. 
a)Where there’s a road b)Here’s a place 
c)Where there’s life  d)None of the above 

76) Fill in the blank with appropriate preposition. “The 
remuneration was not adequate____ the work done” 
a)to  b)of  c)with d)for 

77) Give the synonym of colleague 
a)Relative b)Co-worker c)Friend d)Enemy 

78) Choose the suffix that will match all the words given 
below: 
Use, truth, care 
a)-ful b)-able  c)-ing  d)None 

79) Arrange the following words in dictionary order: 
Cheat, Cheap, Cheek, Check, Cheer 
   (1)         (2)        (3)        (4)       (5) 
a)1,2,3,4,5 b)2,4,3,5,1 c)2,1,4,3,5 d)1,3,5,4,2 

80) Which of the following is the antonym of approval? 
a)Assessment b)Criticism c)Judgement 
d)Analysis 

 
 
 

PART ‘B’ : Psychology 
ÀÌ¾¢ '¬' : OÇÅ¢ÂøÀÌ¾¢ '¬' : OÇÅ¢ÂøÀÌ¾¢ '¬' : OÇÅ¢ÂøÀÌ¾¢ '¬' : OÇÅ¢Âø    

 
81) Aruna cuts a cake into two halves and cuts one half into 

smaller pieces of equal size. Each of the small pieces is 
twenty grams in weight. If she has seven pieces of the 
cake in all with her, how heavy was the original cake? 
a)120 grms    b)140 grms c)240 grms     d)280 grms 
«Õ½¡ ´Õ '§¸ì¨¸' þÕ À¡¾¢Â¡¸ ¦ÅðÎ¸¢È¡÷. 
«¾¢ø ´Õ À¡¾¢¨Â ºÁ «Ç×ûÇ º¢Ú ÐñÎ¸Ç¡¸ 
¦ÅðÎ¸¢È¡÷. ´ù¦Å¡Õ º¢È¢Â ÐñÎõ 20 ¸¢Ã¡õ 
±¨¼ OûÇ¾¡Ìõ. «ÅÇ¢¼õ ²Ø §¸ì ÐñÎ¸û 
þÕó¾¡ø, ÓØ §¸ì¸¢ý ±¨¼ ±ýÉÅ¡¸ þÕìÌõ? 
a)120 ¸¢Ã¡õ b)140 ¸¢Ã¡õ c)240 ¸¢Ã¡õc)240 ¸¢Ã¡õc)240 ¸¢Ã¡õc)240 ¸¢Ã¡õ 
d)280 ¸¢Ã¡õ 

82) If the place of two digits of a number is changed to each 
other, then the new number increases 18 from the 
original old number. What was the original number? 
a)53 b)57  c)75  d)86 
þÕ þÄì¸ÓûÇ ±ñ½¢ý þ¼í¸û 
´ý¦È¡¦¼¡ýÚ Á¡üÈôÀð¼¡ø, Ò¾¢Â ±ñ, À¨ÆÂ 
±ñ¨½ Å¢¼ 18 «¾¢¸Á¡¸ OûÇÐ. À¨ÆÂ ±ñ 
±ýÉ? 
a)53 b)57  c)75  d)86 

83) A group of 1200 persons consisting of Captains and 
Soldiers travelling in a train. For every 15 Soldiers, 
there is one Captain. The number of Captains in the 
group id 
a)85 b)80  c)75  d)70 
 

§À¡÷ Å£Ã÷¸Ùõ, «Å÷¸ÇÐ ¾¨ÄÅ÷¸Ùõ «¼í¸¢Â 
1200 §À÷¸û Ò¨¸ ÅñÊÂ¢ø À¢Ã¡Â½õ ¦ºöÐ 
¦¸¡ñÎûÇÉ÷. ´ù¦Å¡Õ 15 §À¡÷ Å£ÃÕìÌõ ´Õ 
¾¨ÄÅ÷ OûÇ¡÷. «ó¾ ÌØÅ¢ÖûÇ ¾¨ÄÅ÷¸Ç¢ý 
±ñ½¢ì¨¸ ±ýÉ? 
a)85 b)80  c)75  d)70 

84) In a chess tournament each of the six players will play 
with every other player exactly once. How many 
matches will be played during the tournament? 
a)12 b)15  c)30  d)36 
´Õ '¦ºŠ' Å¢¨ÇÂ¡ðÎ §À¡ðÊÂ¢ø, ¬Ú 
Å¢¨ÇÂ¡ðÎ Å£Ã÷¸û ´ù¦Å¡Õ ¬ð¼ì¸¡ÃÕ¼ý 
´ÕÓ¨È ÁðÎ§Á Å¢¨ÇÂ¡Î¸¢È¡÷. §À¡ðÊÂ¢ø 
±ò¾¨É ¬ð¼í¸û ¬ÊÂ¢ÕôÀ¡÷? 

a)12 b)15  c)30  d)36 

85) In a group of cows and hens, the number of legs are 14 
more than twice the number of heads. The number of 
cows is___ 
a)5  b)7  c)10  d)12 
Á¡Î¸û, §¸¡Æ¢¸û «¼í¸¢Â Üð¼ò¾¢ø, ¸¡ø¸Ç¢ý 
±ñ½¢ì¨¸ þÕÁ¼íÌ ¾¨Ä¸Ç¢ý 
±ñ½¢ì¨¸¨ÂÅ¢¼ 14 «¾¢¸Á¡Ìõ. «ôÀÊ ±É¢ø 
Á¡Î¸Ç¢ý ±ñ½¢ì¨¸ ±ýÉ? 
a)5  b)7  c)10  d)12 

86) Which is the missing fraction in the following series 

20

9
,
9

4
....?....,

86

39
 

a)
40

17
 b) 

42

19
  c) 

45

20
  d) 

53

29
 

¸£ØûÇ ¦¾¡¼¡¢ø Å¢ÎÀð¼ À¢ýÉõ ±Ð 

20

9
,
9

4
....?....,

86

39
 

a)
40

17
 b) 

42

19
  c) 

45

20
  d) 

53

29
 

87) If we write ‘SENT’ to ‘+÷×-‘ and ‘ANT’ to *×-, then how 

‘TEN’ would be written in the same code 

a)*- × b)×÷×  c)- ÷×  d) ÷×- 
‘SENT’ ìÌ ‘+÷×-‘ ±ýÚõ ‘ANT’ ìÌ *×-, ±ýÚ 
±Ø¾ôÀð¼¡ø, ‘TEN’ ìÌ «§¾ ºí§¸¾ ¦Á¡Æ¢Â¢ÖûÇ 
ÌÈ¢Â£Î ±ôÀÊ ±Ø¾ôÀÎõ 

a)*- × b)×÷×  c)- ÷×  d) ÷×- 
88) Ramesh has solved 108 questions in an examination. If 

he got only ‘0’ marks, then how many questions were 
wrong when one mark is given for each one correct 
answer and 1/3 mark is subtracted on each wrong 
answer. 
a)27 b)62  c)54  d)81 
Ã§Á‰ ´Õ §¾÷Å¢ø 108 §¸ûÅ¢¸ÙìÌ ¾£÷× 
¸ñÊÕó¾¡÷. «Å÷ '0' Á¾¢ô¦Àñ¸§Ç ¦ÀüÈ¢Õó¾¡ø, 
±ò¾¨É §¸ûÅ¢¸û ¾ÅÈ¡¸ þÕìÌõ? ´ù¦Å¡Õ 
º¡¢Â¡É Å¢¨¼ìÌõ 1 Á¾¢ô¦Àñ ¾ÃôÀðÎ, 
´ù¦Å¡Õ ¾ÅÈ¡É Å¢¨¼ìÌõ 1/3 Á¾¢ô¦Àñ 
Ì¨Èì¸ôÀÎ¸¢ÈÐ 
a)27 b)62  c)54  d)81 
 

89) Rita is twice as old as Rama. Three years ago, she was 
three times as old as Rama. How old is Rita now? 
a)6 yrs b)7 yrs  c)8 yrs  d)12 yrs 
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¡£ð¼¡ ÃÁ¡¨Åô §À¡Ä ÅÂ¾¢ø þÕ Á¼íÌ ¦À¡¢ÂÅû. 
ãýÚ ÅÕ¼í¸ÙìÌ ÓýÒ, «Å÷ ÃÁ¡¨Å Å¢¼ 
ãýÚ Á¼íÌ ÅÂ¾¢ø ¦À¡¢ÂÅÇ¡¸ þÕó¾¡÷. 
¾ü¦À¡ØÐ ¡£ð¼¡Å¢ý ÅÂÐ ±ýÉ? 
a)6 ÅÕ¼í¸û b)7 ÅÕ¼í¸û 
c)8 ÅÕ¼í¸û d)12 ÅÕ¼í¸ûd)12 ÅÕ¼í¸ûd)12 ÅÕ¼í¸ûd)12 ÅÕ¼í¸û    

90) Gopal is four years younger than Krishnan, Ramesh is 
6 years older than Leela. Sheela is twice as old as 
Leela. Krishnan is 4 years older than Ramesh. Sheela 
is eight years old. Who two are of the same age? 
a)Gopal and Ramesh       b)Ramesh and Sheela 
c)Gopal and Sheela       d)No two are of the same age 
§¸¡À¡ø, ¸¢Õ‰½¨É Å¢¼ 4 ÅÂÐ þ¨ÇÂÅ÷, 
Ã§Á‰, Ä£Ä¡¨Å Å¢¼ 6 ÅÂÐ ãò¾Å÷, „£Ä¡, 
Ä£Ä¡¨Å §À¡Ä þÕ Á¼íÌ ÅÂÐ «¾¢¸Á¡ÉÅ÷. 
¸¢Õ‰½ý Ã§Á¨„ Å¢¼ 4 ÅÂÐ ¦À¡¢ÂÅ÷. 
„£Ä¡Å¢ý ÅÂÐ 8 ÅÕ¼í¸û. ±ó¾ þÕÅÕìÌ ´§Ã 
ÅÂÐ? 
a)§¸¡À¡ø ÁüÚõ Ã§Á‰a)§¸¡À¡ø ÁüÚõ Ã§Á‰a)§¸¡À¡ø ÁüÚõ Ã§Á‰a)§¸¡À¡ø ÁüÚõ Ã§Á‰ b)Ã§Á‰ ÁüÚõ „£Ä¡ 
c)§¸¡À¡ø ÁüÚõ „£Ä¡  
d)±ó¾ þÕÅÕìÌõ ´§Ã ÅÂÐ þø¨Ä 

91) Rashid is three years elder to Mahesh who is the 
youngest but one among five boys. Ahmed is in the 
middle. Alexander is between Rashid and Ahmed while 
Mahesh is between Ahmed and John, who is 12 years 
of age. Which of the following statement is not true? 
a)Rashid is the eldest of five boys 
b)Ahmed is not more than 15 years of age 
c)John is youngest of all 
d)Alexander is younger than Mahesh 
Ã„¢ò, Á§¸‰-³ Å¢¼ 3 ÅÂÐ ãò¾Å÷, Á§¸‰ 5 
º¢ÚÅ÷¸Ç¢ø 4 ÅÐ þ¨ÇÂÅÃ¡Å÷. «†Áò 
¿ÎÁò¾¢Â¢ø þÕì¸¢È¡÷. «¦Äìº¡ñ¼÷, Ã„¢òÐìÌõ 
«†Áò¾¢üÌõ þ¨¼Â¢ø OûÇ¡÷, Á§†‰, 
«†Áò¾¢üÌõ ƒ¡ÛìÌõ þ¨¼Â¢ø OûÇ¡÷. ƒ¡É¢ý 
ÅÂÐ 12 ÅÕ¼í¸Ç¡Ìõ. ¸£ØûÇ ÜüÚ¸Ç¢ø ±Ð 
Oñ¨Á «øÄ? 
a)5 º¢ÚÅ÷¸Ç¢ø Ã„£ò ãò¾Å÷ 
b)«†Áò¾¢ý ÅÂÐ 15 ÅÕ¼ò¾¢üÌ §Áø þø¨Ä 
c)±ø§Ä¡¡¢Öõ þ¨ÇÂÅ÷ ƒ¡ý 
d)«¦Äìº¡ñ¼÷ Á§¸¨„Å¢¼ þ¨ÇÂÅ÷ 

92) At the end of a business conference, the ten people 
present, all shook hands with each other once. How 
many hands shakes will there be altogether? 
a)20 b)45  c)50  d)90 
10 §À÷ ¸ÄóÐ ¦¸¡ñ¼ ¦¾¡Æ¢ø Á¡¿¡ðÊø, 
«¨ÉÅÕõ ±ø§Ä¡Õ¼Ûõ ¨¸ ÌÖìÌì 
¦¸¡ñ¼É÷. ¦Á¡ò¾ò¾¢ø ±ò¾¨É ¨¸ ÌÖì¸ø¸û 
¿¢¸úó¾É? 
a)20 b)45  c)50  d)90 

93) ‘A’ ‘B’ ‘C’ and ‘D’ play a game of cards. ‘A’ says to ‘B’, 
“If I give you 8 cards, you will have as many as ‘C’ has 
and I shall have 3 less than what ‘C’ has. Also, if I take 
6 cards from ‘C’ I shall have twice as many as ‘D’ has. 
“If ‘B’ and ‘D’ together have 50 cards, how many cards 
has ‘A’ got?) 
a)50 b)60  c) 40  d)30 
'A' 'B' 'C' ÁüÚõ 'D' º£ðÎ Å¢¨ÇÂ¡Î¸¢ýÈÉ÷. 'A' 'B' 
Â¢¼õ ÜÚ¸¢È¡÷, ¿¡ý Oí¸ÙìÌ 8 º£ðÎ¸û 
¦¸¡Îò¾¡ø, 'C' ¨Âô §À¡ýÚ, «§¾ ±ñ½¢ì¨¸Â¢ø 
º£ðÎ¸Ùõ, ¿¡ý Oí¸¨Ç Å¢¼ 3 º£ðÎ¸û 
Ì¨ÈÅ¡¸×õ ¦ÀüÈ¢Õô§À¡õ. ¿¡ý 'C' Â¢¼Á¢ÕóÐ 6 
º£ðÎ¸¨Ç ±ÎòÐì ¦¸¡ñ¼¡ø, ¿¡ý 'D' ¨Âô §À¡Ä 

þÕ Á¼íÌ º£ðÎ¸û ¨Åò¾¢Õô§Àý. 'B' Ôõ 'D' Ôõ 
§º÷óÐ ¦Á¡ò¾Á¡¸ 50 º£ðÎ¸û ¨Åò¾¢Õó¾¡ø 'A' 
Â¢¼ÓûÇ º£ðÎ¸û ±ò¾¨É? 
a)50 b)60  c) 40  d)30 

94) In the group of the following numbers, one does not 
belong to the group. Which is that number?  
7, 11, 13, 16, 19 
a)11 b)16  c)13  d)19 
¸£§Æ ¦¸¡Îì¸ôÀðÎûÇ ±ñ ¦¾¡ÌôÀ¢ø ´Õ ±ñ 
«ó¾ ÌØ¨Å §º÷ó¾¾øÄ, «Ð ±ó¾ ±ñ?  
7, 11, 13, 16,19 
a)11 b)16  c)13  d)19 

95) Following a certain relationship existing among the 
following figures, what number should come after 240? 
4, 12, 48, 240, ____ 
a)1200 b)960  c)1440  d)1680 
¸£ØûÇ ±ñ¸Ùì¸¢¨¼§Â ´Õ Å¢¾Á¡É OÈ× 
¿¢Ä×Å¾¡¸ì ¦¸¡ñ¼¡ø, ±ñ 240ìÌ À¢ÈÌ ±ó¾ 
±ñ ÅÃ §ÅñÎõ? 
4,12,48,240,____ 
a)1200 b)960  c)1440  d)1680 

96) In a group of the following numbers one does not 
belong to the group, which is that number? 
1, 4, 3, 16, 5, 32, 7, 64 
a)4  b)5  c)32  d)7 
¸£ØûÇ ±ñ ¦¾¡ÌôÀ¢ø ´Õ ±ñ «ó¾ ÌØ¨Å 
§º÷ó¾¾øÄ, «ó¾ ±ñ ±Ð? 
1,4,3,16,5,32,7,64,____ 
a)4  b)5  c)32  d)7 

EXPLANATION: Here  ambiguity is there. One 
can argue the second Series as 4, 16, 36, 64   (or) 8, 
16, 32, 64. So in the first case “32” is odd man out. 
In the second case “4” is odd man Out.  

97) Find the correct answer: 
CVUB: BUVC::QJOI:? 
a)IPQT b)IOJQ  c)IDQU  d)IOJU 
º¡¢Â¡É Å¢¨¼¨Âò §¾÷ó¦¾Îì¸×õ: 
CVUB: BUVC::QJOI:? 
a)IPQT b)IOJQ  c)IDQU  d)IOJU 

EXPLANATION: CVUB becomes BUVC by 

interchanging C & B and V and U. If we apply the 
same logic then we will get IOJQ. 

98) Find the correct answer: NUMBER: 
UNBMRE::GHOST:? 
a)HGOST b)HOGST c)HGSOT d)HOGTS 
º¡¢Â¡É Å¢¨¼¨Âò §¾÷ó¦¾Îì¸×õ: 
UNBMRE::GHOST:? 
a)HGOST b)HOGST c)HGSOT d)HOGTS 

99) Find the correct answer: 
ABC:ZYX::CBA:? 
a)XYZ b)BCA  c)XZY  d)YZX 
º¡¢Â¡É Å¢¨¼¨Âò §¾÷ó¦¾Îì¸×õ: 
ABC:ZYX::CBA:? 
a)XYZ b)BCA  c)XZY  d)YZX 

100) Find the correct answer: 
ZXYW:USTR::PNOM:? 
a)JHKI b)KIJH  c)KHIJ  d)IHKJ 
º¡¢Â¡É Å¢¨¼¨Âò §¾÷ó¦¾Îì¸×õ: 
ZXYW:USTR::PNOM:? 
a)JHKI b)KIJH  c)KHIJ  d)IHKJ 

(Question Number 101-105) In each of the following 
questions, four numbers are given. Out of these, three are 
alike in certain way but one is different. Choose the one 
which is different from the rest:  



RADIAN IAS ACADEMY  (A Hi-Tech Advanced Coaching Centre)            -7-        www.radiannews.pbworks.com 

711 EVR Road, Opp. Anna Arch, NSK Nagar, Arumbakkam, CHENNAI-106.     E-mail: mailtoradian@yahoo.co.in      Ph: 98404-00825, 98404-33955 

 

¦¸¡Îì¸ôÀðÎûÇ ¿¡ýÌ ±ñ¸Ç¢ý ãýÚ ´Õ 
Å¢¾Á¡¸×õ Áü¦È¡ýÚ «ÅüÈ¢Ä¢ÕóÐ §ÅÚÀð¼¾¡¸×õ 
OûÇÐ. §ÅÚÀð¼ ±ñ¨½ì ¸ñÎÀ¢Êì¸×õ (§¸ûÅ¢ (§¸ûÅ¢ (§¸ûÅ¢ (§¸ûÅ¢ 
±ñ 101±ñ 101±ñ 101±ñ 101----105)105)105)105)    
101) a)17 b)27  c)29  d)37 

102) a)45 b)99  c)109  d)126 

103) a)17 b)64  c)125  d)144 

EXPLANATION: Here the simple logic is that 

“17” is prime others are Composite. Even if there 
is  any other logic then this question can be 
removed. 

104) a)246 b)356  c)527  d)639 

105) a)369 b)462  c)761  d)862 

106) In the following diagram, 3 classes of population are 
represented in 3 figures. Triangle represents school 
teachers, square represents married persons and 
circle represents persons living in joint families. Based 
on this, answer the question given 

 
Married persons living in joint families but not working 
as school teachers are represented by 
a)C b)F  c)D  d)A 
¸£ØûÇ À¼ò¾¢ø, ãýÚ Å¢¾ Áì¸û ¦¾¡¨¸ ãýÚ 
À¼í¸Ç¡¸ ¸¡ð¼ôÀðÎûÇÉ. Óì§¸¡½õ ÀûÇ¢ 
¬º¢¡¢Â÷¸¨ÇÔõ, ºÐÃõ ¾¢ÕÁ½õ ¬ÉÅ÷¸¨ÇÔ, 
Åð¼õ ÜðÎì ÌÎõÀò¾¢ø Åº¢ôÀÅ÷¸¨ÇÔõ 
ÌÈ¢ì¸¢ýÈÉ. þÅüÈ¢ý «ÊôÀ¨¼Â¢ø À¢ýÅÕõ 
§¸ûÅ¢ìÌ Å¢¨¼ «Ç¢ì¸×õ. 

 
ÜðÎì ÌÎõÀò¾¢ø Å¡Øõ ¾¢ÕÁ½õ ¬ÉÅ÷¸û 
¬É¡ø ÀûÇ¢ ¬º¢¡¢Â÷¸Ç¡¸ À½¢Â¡üÈ¡¾Å÷¸û 
±¾É¡ø ÌÈ¢ôÀ¢¼ôÀÎÅ÷? 
a)C b)F  c)D  d)A 

107) If water is called Blue, blue is called Red, red is called 
White, white is called Sky, sky is called Rain, rain is 
called Green, green is called Air, then what is the 
colour of milk? 
a)Air b)Green c)White  d)Sky 
¾ñ½£÷ ¿£Ä¿¢È¦ÁýÚõ, ¿£Ä¿¢Èõ º¢¸ôÒ ±ýÚõ, 
º¢¸ôÒ ¦Åû¨Ç ±ýÚõ, ¦Åû¨Ç Å¡Éõ ±ýÚõ, 
Å¡Éõ Á¨Æ ±ýÚõ, Á¨Æ Àî¨º ¿¢È¦ÁýÚõ, 
Àî¨º ¸¡ü¦ÈýÚõ ¦¸¡ñ¼¡ø, À¡Ä¢ý ¿¢Èõ ±ýÉ? 
a)¸¡üÚ b)Àî¨º ¿¢Èõ c)¦Åñ¨Á d)Å¡Éõd)Å¡Éõd)Å¡Éõd)Å¡Éõ 

108) If ‘+’ means division, ‘-‘ means multiplication, ‘×’ means 
minus and ‘÷’ means plus, then find out the value of 

(280+10×20)-8÷6 

a)70 b)112  c)-392  d)58 
'+' ÌÈ¢ ÅÌò¾ø ¬É¡ø, '-' ÌÈ¢ ¦ÀÕì¸ø ¬É¡ø, 'x' 
ÌÈ¢ ¸Æ¢ò¾ø ¬É¡ø, '÷' ÌÈ¢ Üð¼ø ¬É¡ø, À¢ýÉ÷ 
(280+10x20)÷6ý Á¾¢ôÒ ±ýÉ? 
a)70 b)112  c)-392  d)58 

109) Insert the missing word in the brackets: 
31(CAGE) 75 
89    (?)    45 
a)Call b)Safe  c)Hide  d)Hill 
«¨¼ôÒì ÌÈ¢Â¢ø þÕì¸ §ÅñÊÂ Å¡÷ò¨¾¨Â 
â÷ò¾¢ ¦ºöÂ×õ 
31(CAGE) 75 
89    (?)    45 
a)Call b)Safe  c)Hide  d)Hill 

110) A duck in front of two ducks; a duck behind two ducks; 
and one duck in the middle. How many ducks are 
there? 
a)5 b)3  c)7  d)4 
´Õ Å¡òÐ þÕ Å¡òÐ¸ÙìÌ ÓýÉ¡ø OûÇÐ. 
´Õ Å¡òÐ þÕ Å¡òÐ¸ÙìÌ À¢ýÉ¡ø OûÇÐ. 
´Õ Å¡òÐ Áò¾¢Â¢ø OûÇÐ. «íÌ ±ò¾¨É 
Å¡òÐ¸û OûÇÉ? 
a)5 b)3  c)7  d)4 

111) If the day that dawned two days preceding day before 
yesterday was SUNDAY, then what day of the week 
will dawn two days following day after tomorrow? 
a)Friday b)Sunday c)Saturday d)Monday 
§¿ü¨ÈÂ Óý¾¢Éò¾¢üÌ þÃñÎ ¾¢Éí¸û ÓýÉ÷ 
»¡Â¢üÚì ¸¢Æ¨ÁÂ¡É¡ø, ¿¡¨ÇÂ ÁÚ¾¢Éò¨¾ 
«ÎòÐ þÕ¿¡û ¸Æ¢òÐ ÅÕõ ¾¢Éõ ±Ð? 
a)¦ÅûÇ¢ì¸¢Æ¨Á  b)»¡Â¢Ú 
c)ºÉ¢ì¸¢Æ¨Á  d)¾¢í¸ûd)¾¢í¸ûd)¾¢í¸ûd)¾¢í¸û 

112) The number given is 5894327614. We inter-change 
the first and the second, the third and the fourth, the 
fifth and sixth and so on. Then when we count from the 
right end, which digit will be the sixth? 
a)3 b)2  c)4  d)5 
¦¸¡Îì¸ôÀðÎûÇ ±ñ 5894327614, þ¾¢ø Ó¾ø, 
þÃñ¼¡õ ±ñ¸û ´ýÈ¢ý þ¼ò¾¢ø Áü¦È¡ýÚõ, 
ãýÚõ-¿¡ýÌõ, ³óÐõ-¬Úõ, þÐ §À¡ýÚ ÁüÈ 
±ñ¸Ùõ þ¼õ Á¡üÈôÀÎ¸¢ýÈÉ. ÅÄÐ §¸¡ÊÂ¢ø 
þÕóÐ ±ñ½¢É¡ø ±ó¾ ±ñ ¬È¡ÅÐ þ¼ò¾¢ø 
þÕìÌõ? 
a)3 b)2  c)4  d)5 

113) A room is a square of side 50 feet. A second room is 
of area 100 square yards. A third room is of area 200 
square feet. Which of these can seat maximum 
people? (Hint:1 yard=3 feet) 
a)First room b)Second room 
c)Third room d)Cannot be calculated 
´Õ ºÐÃ «¨ÈÂ¢ý Àì¸õ 50 «ÊÂ¡Ìõ. þÃñ¼¡ÅÐ 
«¨È 100 ºÐÃ ¸ƒõ ÀÃôÀÇ×¨¼Â¾¡Ìõ. 
ãýÈ¡ÅÐ «¨È 200 ºÐÃ «Ê ÀÃôÒ¨¼ÂÐ. þó¾ 
«¨È¸Ç¢ø ±¾¢ø «¾¢¸ ±ñ½¢ì¨¸ Áì¸û 
«ÁÃÄ¡õ? (ÌÈ¢ôÒ 1 ¸ƒõ=3 ¸Ê) 
a)Ó¾ø «a)Ó¾ø «a)Ó¾ø «a)Ó¾ø «¨È¨È¨È¨È b)þÃñ¼¡õ «¨È 
c)ãýÈ¡õ «¨È d)¸½ì¸¢¼ ÓÊÂ¡Ð 

114) If Z=52 and ACT=48 then BAT will be equal to 
a)39 b)41  c)44  d)46 
´Õ§Å¨Ç ‘Z’, 52 ìÌ ºÁÁ¡É¡ø, ‘ACT’, 48ìÌ 
ºÁÁ¡É¡ø, ‘BAT’ ±¾üÌ ºÁÁ¡¸ þÕìÌõ 
a)39 b)41  c)44  d)46 

EXPLANATION: The position of ‘Z’ is 26, so its 

value is  double of this. i.e. Z=26x2=52. Similarly 
ACT=(1+3+20)x2=48, there fore BAT should be 
(2+1+20)x2=46. 

115) A is the father of X. B is the mother of Y. The sister of 
X and Z is Y. Then, which of the following statements 
is not true? 
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a)B is the wife of A  b)B has one daughter 
c)Y is the son of A d)X is the sister of Z  
A ±ýÀÅ÷ Xý ¾ó¨¾Â¡Å¡÷, B ±ýÀÅ÷ Yý 
¾¡Â¡Ã¡Å¡÷. X ÁüÚõ Zý º§¸¡¾¡¢ Y ¬Å¡÷. «ôÀÊ 
±ýÈ¡ø À¢ýÅÕõ ÜüÚ¸Ç¢ø ±Ð ¾ÅÈ¡ÉÐ? 
a)B,AÂ¢ý Á¨ÉÅ¢  b)BìÌ ´Õ Á¸û OûÇ¡÷ 
c)Y,AÂ¢ý Á¸ýc)Y,AÂ¢ý Á¸ýc)Y,AÂ¢ý Á¸ýc)Y,AÂ¢ý Á¸ý  d)X,Zý º§¸¡¾¡¢ 

116) A man had returned after a bird shooting. He was 
asked how many birds he had in the bag. He said, 
“they are all sparrows but six; all pigeons but six and 
all doves but six” How many birds had he in all? 
a)18 b)9  c)27  d)36 
´ÕÅ÷ ´Õ¿¡û ÓØÅÐ ÀÈ¨Å §Åð¨¼Â¡Ê 
¾¢ÕõÀ¢É¡÷. «ÅÃÐ ¨ÀÂ¢ø ±ò¾¨É ÀÈ¨Å¸û 
OûÇ¦¾É §¸ð¸ôÀð¼¡÷. ¬Ú ¾Å¢Ã ÁüÈ¦¾øÄ¡õ 
º¢ðÎìÌÕÅ¢¸û, ¬Ú ¾Å¢Ã ÁüÈ¦¾øÄ¡õ 
Á¡¼ôÒÈ¡ì¸û, ¬Ú ¾Å¢Ã ÁüÈ¦¾øÄ¡õ 
Á½¢ôÒÈ¡ì¸û. ¦Á¡ò¾ò¾¢ø «Å¡¢¼Á¢Õó¾ 
ÀÈ¨Å¸Ç¢ý ±ñ½¢ì¨¸ ±ýÉ? 
a)18 b)9  c)27  d)36 
Below is given a passage followed by several 
inferences, you have to examine and answer 
accordingly from amongst the alternatives 
provided (Question No. 117-122) 
India is very poorly placed in regard to the reserves of 
gold ore. Currently, gold is mined at Kolar mines, the 
world’s deepest and the Hutti mines – both in 
Karnataka. Thereafter two mines in Anantapur and 
Chittoor Districts of Andhra Pradesh have lately 
started functioning. The known reserves are placed at 
only 81000 kg of gold content. The annual production 
of gold has been dwindling. It has come down from 
7000 kg in 1951 to 1931 kg in 1986. 
¸£ØûÇ ÀÌ¾¢¨Â ¦¾¡¼÷óÐ ÀÄ «ÛÁ¡Éí¸û ¸£ØûÇ ÀÌ¾¢¨Â ¦¾¡¼÷óÐ ÀÄ «ÛÁ¡Éí¸û ¸£ØûÇ ÀÌ¾¢¨Â ¦¾¡¼÷óÐ ÀÄ «ÛÁ¡Éí¸û ¸£ØûÇ ÀÌ¾¢¨Â ¦¾¡¼÷óÐ ÀÄ «ÛÁ¡Éí¸û 
¾ÃôÀðÎûÇÉ. «Åü¨È ¬Ã¡öóÐ 117 Ó¾ø 122 ¾ÃôÀðÎûÇÉ. «Åü¨È ¬Ã¡öóÐ 117 Ó¾ø 122 ¾ÃôÀðÎûÇÉ. «Åü¨È ¬Ã¡öóÐ 117 Ó¾ø 122 ¾ÃôÀðÎûÇÉ. «Åü¨È ¬Ã¡öóÐ 117 Ó¾ø 122 
Å¨ÃÔûÇ §¸ûÅ¢¸ÙìÌ Á¡üÚ Å¢¨¼¸Ç¢Ä¢ÕóÐ Å¨ÃÔûÇ §¸ûÅ¢¸ÙìÌ Á¡üÚ Å¢¨¼¸Ç¢Ä¢ÕóÐ Å¨ÃÔûÇ §¸ûÅ¢¸ÙìÌ Á¡üÚ Å¢¨¼¸Ç¢Ä¢ÕóÐ Å¨ÃÔûÇ §¸ûÅ¢¸ÙìÌ Á¡üÚ Å¢¨¼¸Ç¢Ä¢ÕóÐ 
º¡¢Â¡É Å¢¨¼¨Â «Ç¢ì¸×õº¡¢Â¡É Å¢¨¼¨Â «Ç¢ì¸×õº¡¢Â¡É Å¢¨¼¨Â «Ç¢ì¸×õº¡¢Â¡É Å¢¨¼¨Â «Ç¢ì¸×õ....    
¾í¸ ¾¡Ðô ¦À¡Õ¨Ç À¡Ð¸¡ôÀ¾¢ø þó¾¢Â¡ Á¢¸ 
À¢ýÉ¢¨ÄÂ¢ø OûÇÐ. ¾ü¦À¡ØÐ ¸÷¿¡¼¸ò¾¢ø 
OûÇ, OÄ¸ò¾¢ý Á¢¸ ¬ÆÁ¡É §¸¡Ä¡÷ 
ÍÃí¸ò¾¢Öõ, †ðÊ ÍÃí¸ò¾¢Öõ, ¾í¸õ ¦ÅðÊ 
±Îì¸ôÀÎ¸¢ÈÐ. ¬ó¾¢Ã À¢Ã§¾ºò¾¢ý, «Éó¾ôâ÷ 
ÁüÚõ º¢òà÷ Á¡Åð¼í¸Ç¢ÖûÇ þÕ ÍÃí¸í¸Ùõ 
¾¡Á¾Á¡¸ À½¢ ¦ºöÂò ¦¾¡¼í¸¢É. þÅüÈ¢ø 
81000 ¸¢§Ä¡ ¸¢Ã¡õ ¾í¸õ OûÇ¾¡¸ ¦¾¡¢¸¢ÈÐ. 
ÅÕ¼¡ó¾¢¼ ¾í¸ OüÀò¾¢ Ì¨ÈóÐ ¦¸¡ñÎ 
ÅÕ¸¢ÈÐ. «¾ý «Ç× 1951-ø 7000¸¢.¸¢Ã¡Á¡¸ 
þÕó¾Ð. 1986-ø 1931 ¸¢.¸¢Ã¡Á¡¸ Ì¨ÈóÐûÇÐ. 

117) The gold production has decreased by about 72% in 
35 years. 
a)Definitely true  b)Probably true 
c)Probably false  d)Definitely false 
¾í¸ OüÀò¾¢ 35 ÅÕ¼í¸Ç¢ø 72% ¬¸ 
Ì¨ÈóÐûÇÐ 
a)¿¢îºÂÁ¡¸ º¡¢a)¿¢îºÂÁ¡¸ º¡¢a)¿¢îºÂÁ¡¸ º¡¢a)¿¢îºÂÁ¡¸ º¡¢     b)º¡¢Â¡¸ þÕì¸Ä¡õ 
c)¾ÅÈ¡¸ þÕì¸Ä¡õ d)¿¢îºÂÁ¡¸ ¾ÅÚ 

118) Hutti mines are the deepest in the world 
a)Definitely false  b)Probably false 
c)Probably true  d)Definitely true 
OÄ¸ò¾¢ÖûÇ ÍÃí¸í¸Ç¢ø Á¢¸ ¬ÆÁ¡ÉÐ †ðÊ 
ÍÃí¸Á¡Ìõ 
a)¿¢îºÂÁ¡¸ ¾ÅÚa)¿¢îºÂÁ¡¸ ¾ÅÚa)¿¢îºÂÁ¡¸ ¾ÅÚa)¿¢îºÂÁ¡¸ ¾ÅÚ  b)¾ÅÈ¡¸ þÕì¸Ä¡õ 
c)º¡¢Â¡¸ þÕì¸Ä¡õ d)¿¢îºÂÁ¡¸ º¡¢ 

119) India imports gold from other countries 
a)Probably true  b)Definitely true 
c)Data inadequate  d)Probably false 
þó¾¢Â¡ ¦ÅÇ¢¿¡Î¸Ç¢Ä¢ÕóÐ ¾í¸ò¨¾ þÈìÌÁ¾¢ 
¦ºö¸¢ÈÐ 
a)º¡¢Â¡¸ þÕì¸Ä¡õ b)¿¢îºÂÁ¡¸ º¡¢ 
c)§À¡¾¢Â ¾¸Åø þø¨Äc)§À¡¾¢Â ¾¸Åø þø¨Äc)§À¡¾¢Â ¾¸Åø þø¨Äc)§À¡¾¢Â ¾¸Åø þø¨Ä    d)¿¢îºÂÁ¡¸ ¾ÅÚ 

120) India does not have more than 81000 kg of gold 
reserves 
a)Definitely false  b)Probably false 
c)Definitely true  d)Probably true 
þó¾¢Â¡Å¢¼õ 81000 ¸¢.¸¢Ã¡õ §Áø ¾í¸ §ºÁ¢ôÒ 
þø¨Ä 
a)¿¢îºÂÁ¡¸ ¾ÅÚ  b)¾ÅÈ¡¸ þÕì¸Ä¡õ 
c)¿¢îºÂÁ¡¸ º¡¢  d)º¡¢Â¡¸ þÕì¸Ä¡õd)º¡¢Â¡¸ þÕì¸Ä¡õd)º¡¢Â¡¸ þÕì¸Ä¡õd)º¡¢Â¡¸ þÕì¸Ä¡õ 

121) Kolar mines show the largest production of gold 
a)Probably true  b)Probably false 
c)Data Inadequate  d)Data adequate 
§¸¡Ä¡÷ ¾í¸î ÍÃí¸õ, Á¢¸ «¾¢¸ «Ç× ¾í¸õ 
OüÀò¾¢ ¦ºö¸¢ÈÐ 
a)º¡¢Â¡¸ þÕì¸Ä¡õa)º¡¢Â¡¸ þÕì¸Ä¡õa)º¡¢Â¡¸ þÕì¸Ä¡õa)º¡¢Â¡¸ þÕì¸Ä¡õ b)¾ÅÈ¡¸ þÕì¸Ä¡õ 
c)§À¡¾¢Â ¾¸Åø þø¨Ä d)§À¡¾¢Â ¾¸Åø OûÇÐ 

122) The gold mines in Ananthapur and Chittoor are the 
oldest mines in India 
a)Definitely true  b)Definitely false 
c)Probably true  d)Probably false 
«Éó¾â÷, º¢òà¡¢ø OûÇ ¾í¸ ÍÃí¸í¸û 
þó¾¢Â¡Å¢§Ä§Â Á¢¸ô ÀÆ¨ÁÂ¡É¨ÅÂ¡Ìõ 
a)¿¢îºÂÁ¡¸ º¡¢  b)¿¢îºÂÁb)¿¢îºÂÁb)¿¢îºÂÁb)¿¢îºÂÁ¡¸ ¾ÅÚ¡¸ ¾ÅÚ¡¸ ¾ÅÚ¡¸ ¾ÅÚ 
c)º¡¢Â¡¸ þÕì¸Ä¡õ d)¾ÅÈ¡¸ þÕì¸Ä¡õ 

123) Which one is different from the rest of the three? 
a)Adviser b)Arbitrator c)Mediator d)Referee 
±ó¾ ´ýÚ ÁüÈ ãýÈ¢Ä¢ÕóÐ §ÅÚÀÎ¸¢ÈÐ? 
a)¬§Ä¡º¸÷a)¬§Ä¡º¸÷a)¬§Ä¡º¸÷a)¬§Ä¡º¸÷  b)¿ÎÅ÷ 
c)Áò¾¢ÂŠ¾õ ¦ºöÀÅ÷ d)¬ð¼ ¿ÎÅ÷ 

124) Find the correct answer: 
VIGILANT: ALERT::VIABLE:? 
a)Feasible        b)Gentle c)Active        d)Hopeless 
º¡¢Â¡É Å¢¨¼¨Â §¾÷ó¦¾Îì¸×õ 
±îº¡¢ì¨¸Â¡Â¢Õì¸¢È: Å¢Æ¢ôÒûÇ::Å¡ÆìÜÊÂ:? 
a)º¡ò¾¢ÂÁ¡Éa)º¡ò¾¢ÂÁ¡Éa)º¡ò¾¢ÂÁ¡Éa)º¡ò¾¢ÂÁ¡É b)¦ÀÕó¾ý¨ÁÂ¡É 
c)ÍÚÍÚôÀ¡É d)¿õÀ¢ì¨¸ÂüÈ 

125) Continue the series by selecting from the options that 
belongs to the same group: 
1)Sitar, 2)Guitar, 3)Tampura, 4)_____ 
a)Trumpet    b)Violin            c)Harmoniu d)Mridangam 
¸£ØûÇ ¦º¡ü¸Ç¢Ä¢ÕóÐ ¦¾¡¼¨Ã â÷ò¾¢ ¦ºöÂ×õ: 
1)º¢¾¡÷, 2)¸¢¼¡÷, 3)¾õâÃ¡, 4)___ 
a)ÊÃõ¦Àð b)ÅÂÄ¢ýb)ÅÂÄ¢ýb)ÅÂÄ¢ýb)ÅÂÄ¢ý c)†¡÷§Á¡É¢Âõ 
d)Á¢Õ¾í¸õ 

126) Arrange in a sequence: 
1)Frog 2)Eage 3)Grasshopper 4)Snake 5)Grass 
a)5,3,4,2,1     b)5,3,1,4,2 c)3,4,2,5,1 d)1,3,5,2,4 
¸£ØûÇ ¦º¡ü¸¨Ç Å¡¢¨ºôÀÎòÐ¸: 
1)¾Å¨Ç 2)ÀÕóÐ 3)Òø¾¢ñ½¢ 4)À¡õÒ 5)Òø 
a)5,3,4,2,1     b)5,3,1,4,2 c)3,4,2,5,1 d)1,3,5,2,4 

127) If ‘rose’ is called ‘sunflower’, ‘sunflower’ is called 
‘lotus’, ‘lotus’ is called ‘lily’, ‘lily’ is called ‘poppy’, 
‘poppy’ is called ‘fern’, Which is the Queen of flowers? 
a)Poppy b)Fern  c)Lily d)Sunflower 
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´Õ §Å¨Ç §Ã¡ƒ¡¨Å, 'Ý¡¢Â¸¡ó¾¢ôâ' ±ýÚõ, 
Ý¡¢Â¸¡ó¾¢ô â¨Å '¾¡Á¨Ã' ±ýÚõ ¾¡Á¨Ã¨Â 
'Ä¢øÄ¢ ÁÄ÷' ±ýÚõ, Ä¢øÄ¢¨Â 'À¡ôÀ¢' ±ýÚõ 
'À¡ôÀ¢' ¨Â '·¦À÷ý' ±ýÚõ «¨Æò¾¡ø, ÁÄ÷¸Ç¢ý 
«Ãº¢ Â¡÷? 
a)À¡ôÀ¢ b)·¦À÷ý c)Ä¢øÄ¢   d)Ý¡¢Â¸¡ó¾¢d)Ý¡¢Â¸¡ó¾¢d)Ý¡¢Â¸¡ó¾¢d)Ý¡¢Â¸¡ó¾¢    

EXPLANATION: In general we usually never 

come across the term “Queen of flowers”, but if any 
must be the “ROSE”, because in ayurveda ROSE is 
called the Queen of Flowers. So the answer is 
Sunflower. 

128) Find the correct answer: Sailor: Crew:: Nomads:__ 
a)Flock b)Shoal  c)Horde d)Army 
º¡¢Â¡É Å¢¨¼¨Â §¾÷ó¦¾Îì¸×õ: 
Á¡ÖÁ¢:À¼§¸¡ðÊ¸û::¿¢¨ÄÂ¡É Å¡úÅüÈÅ÷:___ 
a)Áì¸û Üð¼õ  b)¬ÆÁüÈ 
c)¿¡§¼¡Ê þÉò¾Å÷c)¿¡§¼¡Ê þÉò¾Å÷c)¿¡§¼¡Ê þÉò¾Å÷c)¿¡§¼¡Ê þÉò¾Å÷ d)À¨¼ 

129) Storage of information is called________ 
a)Attention   b)Sensation c)Perception d)Memory 
¾¸Åø¸¨Ç §º¸¡¢ôÀÐ___±ÉôÀÎõ 
a)¸ÅÉõ  b)ÒÄý O½÷× 
c)ÒÄý ¸¡ðº¢ d)¿¢¨ÉÅ¡üÈød)¿¢¨ÉÅ¡üÈød)¿¢¨ÉÅ¡üÈød)¿¢¨ÉÅ¡üÈø 

130) ____and thought are intimately related 
a)Book b)Language c)Song         d)Education 
___ÁüÚõ º¢ó¾¨É ´ý§È¡Î ´ýÚ 
þ¨½ó¾¾¡Ìõ 
a)Òò¾¸õ b)¦Á¡Æ¢b)¦Á¡Æ¢b)¦Á¡Æ¢b)¦Á¡Æ¢ c)À¡¼ø d)¸øÅ¢ 

131) Increase in Blood pressure is a physiological response 
to 
a)Motivation b)Emotion c)Intelligence 
d)Personnality 
þÃò¾ «Øò¾õ____O¼ø ¡£¾¢Â¡É ÐÄí¸ø 
a)°ì¸ò¾¢ý b)O½÷Å¢ýb)O½÷Å¢ýb)O½÷Å¢ýb)O½÷Å¢ý 
c)Ññ½È¢Å¢ý d)¬Ù¨ÁÂ¢ý 

132) Self observation is otherwise called as 
a)Introspection b)Interview c)Research 
d)Experiment 
¾ý¨É ¾¡§É ¬Ã¡ö¾ø____±ýÚ ÜÈôÀÎ¸¢ÈÐ 
a)Oû§¿¡ìÌÓ¨Èa)Oû§¿¡ìÌÓ¨Èa)Oû§¿¡ìÌÓ¨Èa)Oû§¿¡ìÌÓ¨È b)§¿÷¸¡Éø Ó¨È 
c)¬Ã¡öîº¢  d)À¡¢§º¡¾¨É 

133) The important characteristic of creative thinking is__ 
a)Good memory b)Previous experience 
c)Originality d)Goo communication skills 
¬ì¸ò¾¢ÈÉ¢ý Óì¸¢ÂÁ¡É ¾ý¨Á ±ýÀÐ____ 
a)º¢Èó¾ ¿¢¨ÉÅ¡üÈø b)Óý «ÛÀÅõ 
c)¾É¢ò¾ý¨Ác)¾É¢ò¾ý¨Ác)¾É¢ò¾ý¨Ác)¾É¢ò¾ý¨Á  d)¿øÄ §ÀîÍò ¾¢Èý 

134) Sruthi is 6 years old but she can solve problems which 
9 years old children can solve. Therefore her mental 
age is 
a)15 yrs b)9 yrs  c)6 yrs  d)7 yrs 
ÍÕ¾¢ ±ýÈ 6 ÅÂÐ º¢ÚÁ¢, 9 ÅÂÐ «¨¼ó¾ 
º¢ÚÅ÷¸¨Ç §À¡ø À¢Ãîº¨É¸ÙìÌ ¾£÷× 
¸¡ñ¸¢È¡û. «ÅÇÐ OÇ ÅÂÐ ±ýÉ? 
a)15 ÅÂÐ     b)9 ÅÂÐb)9 ÅÂÐb)9 ÅÂÐb)9 ÅÂÐ c)6 ÅÂÐ d)7 ÅÂÐ 
 
 
 
 
 
 
 
 

135) Individuals with a strong desire to achieve a 
challenging goal have a strong need for 
a)Power                         b)Affiliation         
c)Achievement              d)Recognition 
´Õ ¾É¢ÂÅÛìÌ ¸Î¨ÁÂ¡É þÄì¨¸ «¨¼Ôõ 
§¾¨Å ÅÄ¢¨Á ¦ÀüÈ¢Õó¾¡ø «¾¨É ÌÈ¢ôÀ¢Îõ 
¦º¡ø 
a)«¾¢¸¡Ãõ 
b)º¡÷óÐ ÁüÚõ þ¨ÉóÐ ¦¸¡ûÙ¾ø 
c)º¡¾¢ìÌõ ¾¢Èýc)º¡¾¢ìÌõ ¾¢Èýc)º¡¾¢ìÌõ ¾¢Èýc)º¡¾¢ìÌõ ¾¢Èý    
d)«í¸£¸¡Ãõ 

136) Hypnosis can be described as 
a)Deep sleep b)Altered state of consciousness 
c)Living in another world 
d)Going back to childhood 
¸£ú ¸ñ¼ÅüÈ¢ø ±¾¨É '«È¢ÐÂ¢ø ¿¢¨Ä' ±ýÚ 
ÜÚ§Å¡õ 
a)¬úó¾ àì¸ ¿¢¨Ä 
b)ÓüÈ¢Öõ ÐÅí¸¡¾ ÁÂì¸ ¿¢¨Äb)ÓüÈ¢Öõ ÐÅí¸¡¾ ÁÂì¸ ¿¢¨Äb)ÓüÈ¢Öõ ÐÅí¸¡¾ ÁÂì¸ ¿¢¨Äb)ÓüÈ¢Öõ ÐÅí¸¡¾ ÁÂì¸ ¿¢¨Ä    
c)§Å¦È¡Õ OÄ¸ò¨¾ «¨¼ÅÐ 
d)ÌÆó¨¾ ÀÕÅò¨¾ «¨¼ÅÐ 

137) Kleptomania is a disorder of 
a)Stealing things       b)Badly making things 
c)Wrongly preparing things      d)Disorganising things 
'¸¢¦Çô§¼¡§ÁÉ¢Â¡' ¸£ú ÌÈ¢ôÀ¢ðÎûÇ ´Õ Å¨¸ 
§¿¡Â¡Ìõ. 
a)¦À¡Õû¸¨Ç ¾¢ÕÎ¾øa)¦À¡Õû¸¨Ç ¾¢ÕÎ¾øa)¦À¡Õû¸¨Ç ¾¢ÕÎ¾øa)¦À¡Õû¸¨Ç ¾¢ÕÎ¾ø    
b)¦¸ð¼ ÅÆ¢Â¢ø ¦À¡Õû¸û OÕÅ¡ìÌ¾ø 
c)¾ÅÈ¡É ¦À¡Õû¸û ¾Â¡¡¢ò¾ø 
d)¦À¡Õû¸û º¢¾Ã Å¢Î¾ø 

138) Conflict arises out of 
a)Stress b)Frustration c)Inferiority complex 
d)Super ego weakness 
ÁÉô §À¡Ã¡ð¼õ ±¾ý Å¢¨ÇÅ¡¸ ±Ø¸¢ÈÐ 
a)ÁÉ «Øò¾õ  b)ÁÉÓÈ¢×b)ÁÉÓÈ¢×b)ÁÉÓÈ¢×b)ÁÉÓÈ¢× 
c)¾¡ú× ÁÉôÀ¡ý¨Á   
d)§ÁÉ¢¿¢¨Ä «¸ò¾¢ý ¿Ä¢× 

139) The police having ______are emotional generally 
a)Traits of working  b)Traits of leadership 
c)Traits of reasoning d)Traits of physical 
À¢ý ÌÈ¢ôÀ¢ðÎûÇ ÀñÒìÜÚûÇ ¸¡Åø¸¡Ã÷ 
§À¡ÐÅ¡¸ ÁÉ¦ÅØîº¢Ô¨¼ÂÅÃ¡Å÷ 
a)§Å¨Ä ¦ºöÔõ ÀñÒ b)¾¨Ä¨Áô ÀñÒb)¾¨Ä¨Áô ÀñÒb)¾¨Ä¨Áô ÀñÒb)¾¨Ä¨Áô ÀñÒ 
c)º¢ó¾¢ìÌõ ÀñÒ  d)O¼ø ÜÚ ÀñÒ 

140) When you see an unattended suitcase under you seat 
in the train you are travelling, what will you do? 
a) Inform to the police station 
b) Open and see what is there inside 
c) Check whether there is any address inside the 

suitcase 
d) When no one is claiming the suitcase I will keep it 

with me 
þÃÂ¢ø ¿¢¨ÄÂò¾¢ø ¿£ þÃÂ¢Ä¢ø ²È¢Â§À¡Ð, OÉÐ 
þÕì¨¸ìÌ «ÊÂ¢ø ´Õ ÌÚõ ¦ÀðÊ¨Â 
¸¡ñ¸¢È¡ö ±É¢ø, ±ýÉ ¦ºöÅ¡ö? 
a)a)a)a) Å¢ÀÃò¨¾ ¸¡Åø Ð¨ÈÂ¢¼õ ¦¾¡¢Å¢ô§ÀýÅ¢ÀÃò¨¾ ¸¡Åø Ð¨ÈÂ¢¼õ ¦¾¡¢Å¢ô§ÀýÅ¢ÀÃò¨¾ ¸¡Åø Ð¨ÈÂ¢¼õ ¦¾¡¢Å¢ô§ÀýÅ¢ÀÃò¨¾ ¸¡Åø Ð¨ÈÂ¢¼õ ¦¾¡¢Å¢ô§Àý    
b) ÌÚõ ¦ÀðÊ¨Âò ¾¢ÈóÐ «¾¢ø ±ýÉ OûÇÐ 

±ýÚ À¡÷§Àý 
c) ÌÚõ ¦ÀðÊÂ¢ø ²§¾Ûõ Ó¸Å¡¢ OûÇ¾¡ ±É 

À¡÷ô§Àý 
d) Â¡Õõ ÌÚõ ¦ÀðÊìÌ O¡¢¨Á ¦¸¡ñ¼¡¼¡¾ 

§À¡Ð «¾¨É ¿¡§É ¨ÅòÐ ¦¸¡û§Åý. 

 


